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ENGLISH VERSION

1 (A) Define HRA. Give its advantage and disadvantage. 7
(B) Explain Present value models. 7
OR
1 Explain various valuation models of HRA in detail. 14
2 (A) Define Cost control. And explain its importance. 7
(B) Techniques of cost reduction. Write note. 7
OR
2  Explain precaution in implementation of cost reduction. 14
3  Following is the balance-sheet of Mohit Litd. as on 31-3-2011: 14
Liabilities Rs. | Assets Rs.
E/s of Rs. 100
each fully paid up| 8,00,000 | Goodwill 50,000
3000, 10% p/s of Land-Building 6,00,000
Rs. 100 each 3,00,000 | — Dep. 60,000 | 5,40,000
Reserves & Surplus| 1,50,000 | Plant-Machi. 7,60,000
P&L Alc 60,000 | — Dep. 1,00,000 | 6,60,000
13% Debentures 2,50,000 | Other Fixed
Creditors 70,000 | assets 1,00,000
Bank overdraft 30,000 | — Dep. 25,000 75,000
Bills payable 10,000 | Investment :
Shares of subsidiary
comp. 30,000
10% Deb. of S Ltd.
(F.V. Rs. 1,00,000) 90,000
Inventory 80,000
Debtors 1,10,000
- B.D.R. __ 5,000 1,05,000
Cash & Bank balance 31,000
Preliminary exp. 9,000
16,70,000 16,70,000
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Additional Information :

(1) The value of land & Building after depreciation
appreciated by Rs. 1,49,000.

(2) The present market value of Plant & Machinery is

Rs. 7,00,000.

(3) Company's average annual profit before tax @ 50% as

Rs. 3,60,000.

(4) Expected rate of return is 10%.

(5) Value of goodwill has been ascertain at 2 years purchase

of super profit.

(6) Ascertain the fair value of E/s of the company.

OR
3  Following 1s the Balance Sheet of Vivan Ltd. as on 14
31-3-2010 :
Liabilities Rs. | Assets Rs.
E/s of Rs. 100 each
Rs. 90 paid up 9,00,000 | Land & Building 4,00,000
General reserve 3,50,000 | Machinery 4,50,000
P&L Ale 2,50,000 | Motar car 25,000
Creditors 5,00,000 | Furnmture 25,000
Investment @ I'.V., 50,000
Inventory 7,25,000
Debtors 2,00,000
Bank 1,05,000
Preliminary exp. 2,00,000
20,00,000 20,00,000
Additional Information :
(1) Market value of building is Rs. 6,00,000 and of
machinery 1s Rs. 5,20,000.
(2) All investment are non-trading and are to be valued at
20% above cost, dividend at uniform rate of 20% is on
all investment.
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(3) Goodwill is to be valued on the basis of 3 years purchase
of super profit.

(4) Profit after tax is as follow
2011 — Rs. 3,80,000
2012 — Rs. 4,20,000
2013 — Rs. 5,00,000
Income tax rate is 50%
(5) Expecting rate of return is 20%.

(6) In 2011 machinery book wvalue 20,000 was sold for

Rs. 20,000 but proceeds were wrongly credited to
P & L A/C. The mistake has not vet rectified.
Depreciations was charge on machinery @ 10% on

reducing balance method.

(7) Trend in profit is to be ignored for the purpose of
calculation of average profit.

Find out the value of E/s on net asset basic.

4  Define Product Pricing. Explain its aims and objectives 14
in detaail.
OR

4  Mital Production Ltd. received an offer for manufacturing 14
2,00,000 machine Screw. Firms has having capacity to
manufacture the order but it require additional fixed capital
investment of Rs. 60,000. And working capital requirement

is of 25% of cost of sale. Estimation for the cost is as under:
— Raw material 10,000 kg = Rs. 4.60 kg.
— Working hours for labour = Total 18,000 hour
(Out of which 2,000 hours are for overtime)
— Rate of the overtime i1s double as compare to normal wage rate.
— Wage rate Rs. 1 per hour at normal rate.

— Factory overhead Re. 1 per hour for total working hours.
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— Selling and distribution expense Rs. 23,000.
— Sale of scrap Bs. 2,000 after production is completed.

Companies expecting profit 25% on capital investment.
Calculate total cost and selling price.

b (A) Give importance of Social cost benefit analysis. 7
(B) Explain limitations of Social cost benefit analysis. 7
OR
5  Explain discounting techniques of Social cost benefit 14
analysis.
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